| Efficiency vs Dxy |
> 0.0]
<

J_.l.Q||||;|||l;||||;lllllllll;llll;llll;llll

B0 T15C10 5 0 5 10 15 20
TP dxy (cm)

—=— DQM _original_step?2_ttbar-phasel-newgeom
| Efficiency vs Dz | —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

0.02 —— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
N U. ' T T T
© C : : :

018t
> r : : : : :
D016t
‘o - : : : : :
$.014 o R B A A
o : : : : :
T 1 1 N S NS
STOTINNE NS N 1 {1
0.008F il

0.006F

0.0041

0.002F

0
1.4

Ratio

e B 1L

] R R & o J ¢ R o R R R SRR EE R

083520 <10 0 10 20 30

TP dz (cm)




	Contents
	Page 1


